Drawings courtesy of Brattons.com

A 90402 1928-29 Coupe

mls_;'zq 1930-31
I ? ra) Oo\\/: ) [+]
- T io T n o r- o
| R - 1 0 = \ \
=) O O
) tes0-a .
3/8-24 x 2 1/4 Hex Bolt i

DR NAWN S DN

3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt

7/16-20 x 2 1/4 Hex Bolt

none

none

none

7/16-20 x 3 Hex Bolt with Flat Washer


Drawings courtesy of Brattons.com


A 90404 1928-29 Fordor & Town Sedan

I‘l28-

I<l30 3l
L 0 ;D: - ) \\/o S -
sl /"’ T wn — o
SIS Y.
= o o
L:l A"I'=I30-3I .
3/8-24 x 2 1/4 Hex Bolt o

2O DO W B e el

3/8 x 2 1/4 Carriage Bolt with Flat Washer
3/8 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt with Flat Washer
none

none

7/16-20 x 2 1/4 Hex Bolt with Flat Washer
7/16-20 x 3 Hex Bolt with Flat Washer




A 90412 1928-29 Phaeton

IQZG;ZQ

[c]

1930-3I1

. Sl

B

o\

o]
o

=] 0

(=]

=

2""‘—-—_
‘“‘H__3 —t
|-|
5

y

~

—

o}

3000 3 G W P W b

=)

3/8-24 x 2 1/4 Hex Bolt

3/8-24 x 2 3/4 Carriage Bolt with Flat Washer
3/8-24 x 2 3/4 Carriage Bolt with Flat Washer

7/16-20 x 2 1/4 Hex Bolt

7/16-20 x 2 1/4 Carriage Bolt

none

none

7/16-20 x 2 1/4 Carriage Bolt

7/16-20 x 3 Hex Bolt with Flat Washer




A 90400 1928-29 Tudor

IQZG;ZQ 130-81
fo] ¢

B

0\ o O

(=]
o]

\

3 _..

1
f —'—'_2 e

I
|

ot oo o o oo L

o n o r
[ ) 4] = ,/ -
B fes0-a

3/8-24 x 2 1/4 Hex Bolt e

3/8 x 2 1/4 Carriage Bolt with Flat Washer
3/8 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt

7/16-20 x 2 1/4 Carriage Bolt

none

none

none

7/16-20 x 3 Hex Bolt with Flat Washer




A 90410-A 1928-31 Pick-Up Box

7/16-20 x 3 Hex Bolt with Flat Washer
7/16-20 x 3 Hex Bolt with Flat Washer

7/16-20 x 3 Hex Bolt

\q

1928-29
¥ 1930-3|
GR 61 & ]
I ) 11 5] °\\/ S O
= T ™ T m o r o
[ "0 Tt 0 5 ,/\ \ (
L==) 0_ 0 o 14
l:-l 1930-31 =
1928-29
1. none
2. none
3. none
4. none
5. none
6. none
T
8.
0.



A 90414 1928-29 Cabriolet 68-A

1928-29

Yy 1930-31
L ) Cﬁ] [5] CI’E;I\‘/%_ - (i rﬁ-
\a t\ll \n H - nm o - O
LU A |
= S 7 o6 o
" taso-al o}
1. 3/8-24 x 2 1/4 Hex Bolt e
2. 3/8 x 2 1/4 Carriage Bolt with Flat Washer
3. 3/8 x 2 1/4 Carriage Bolt with Flat Washer
4. 7/16-20 x 2 1/4 Hex Bolt with Flat Washer
5. 7/16-20 x 2 1/4 Hex Bolt
6. none
7. none ,
8. 7/16-20 x 2 1/4 Carriage Bolt
9. 7/16-20 x 3 Hex Bolt with Flat Washer



A 90415 1930-31 Cabriolet 68-B

WOON AR

1928-29

Iﬁ |130-3|
==

| o 1t &) °\\_/-5/— -
- o\a /n o n o r
e LA

O
" fq30-2

3/8-24 x 1 1/4 Hex Bolt
3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt

none

none

7/16-20 x 3 1/4 Carriage Bolt

7/16-20 x 3 Hex Bolt with Flat Washer



A 90403 1930-31 Coupe

m:;lzq 1930-31
o
[ 2_, ? 8 o\ Q [+]
1 AY
1 am IFr w o r ©o
LU A |
=) (=] O
" taso-al .
3/8-24 x 1 1/4 Hex Bolt e~

WP P e R

3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt

7/16-20 x 2 1/4 Hex Bolt

none

none

none

7/16-20 x 3 Hex Bolt with Flat Washer




A 90405-A 1930-31 Deluxe Fordor & S/W Fordor

+" 1930-31
G ) i
l o) rs) o \ [=] Q o]

Lh
—

1

i 0 o [+) s ’/\o - \ ’ }
- 1AI‘l30-3| . -‘]3}
3/8-24 x 1 1/4 Hex Bolt s

MO PN N 1 A e

3/8 x 2 1/4 Carriage Bolt with Flat Washer
3/8 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt

none

7/16-20 x 2 1/4 Carriage Bolt

none

7/16-20 x 3 Hex Bolt with Flat Washer
7/16-20 x 3 Hex Bolt



A 90413 1930-31 Phaeton

1928-29

¥ 1930-3I
G (]l &+
o 0 . TN T = |

y

1
-——2 ———
-4 3 —rt—

l-'

¥4} — o0
! . == - 0 /\o (<] \
= Tiaso-3i .
1. 3/8-24 x 1 1/4 Hex Bolt 1z
2. 3/8 x 2 1/4 Carriage Bolt with Flat Washer
3. 3/8 x 2 1/4 Carriage Bolt with Flat Washer
4. 7/16-20 x 2 1/4 Hex Bolt
5. 7/16-20 x 2 1/4 Carriage Bolt
6. none
7. none
8. 7/16-20 x 2 1/4 Carriage Bolt
9. 7/16-20 x 3 Hex Bolt with Flat Washer



A 90401 1930-31 Tudor

1928-29

N — B .
VT VD
A

WHONAWL B WN -

E’ Tias0-31
3/8-24 x 1 1/4 Hex Bolt i
3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
3/8-24 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt

7/16-20 x 2 1/4 Carriage Bolt

none

none

none

7/16-20 x 3 Hex Bolt with Flat Washer



A 90411 1931 A-400

N Las0-3
6] &
[=]

NY,
LA

o oo
l%’ Tias0-31

3/8-24 x 1 1/4 Hex Bolt i

3/8 x 2 1/4 Carriage Bolt with Flat Washer

3/8 x 2 1/4 Carriage Bolt with Flat Washer

7/16-20 x 2 1/4 Hex Bolt with Flat Washer

none

none

none

7/16-20 x 2 1/4 Hex Bolt with Flat Washer

7/16-20 x 3 Hex Bolt with Flat Washer

B

o

of

|

H

[+)
=i |
o

'L
|

4+—2—1

L

==

P ONAUN S WN—



A 90416 1931 Cabriolet 68-C

1928-29
¥ 1930-3I
Ga (1
I o o o\ VLS

v

)
-»'—"—'2 .
q..._ﬁ_s JE——

ll

L
|

SOk R o BN O N e

n r—
| - 2 ‘ o 7 \
) 0 Q
B tias0-21
3/8-24 x 1 1/4 Hex Bolt P

3/8 x 2 1/4 Carriage Bolt with Flat Washer
3/8 x 2 1/4 Carriage Bolt with Flat Washer
7/16-20 x 2 1/4 Hex Bolt with Flat Washer
none

7/16-20 x 3 Hex Bolt with Flat Washer
none

7/16-20 x 3 Hex Bolt

7/16-20 x 3 Hex Bolt with Flat Washer




